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9:00 STHHICB#W (S W | 25 | 9:00 STHHC B ZE W I 25 | 7Y N713
9:30 vs IEREL3 25 | 930 | AV F13  vs NEOI3 25
10:00 vs T3 25 | 10:00 vs AYxXrh13 25
10:30 | X7V N713 vs 25 | 10:30 Vs NEOI13 25
11:00 | E7YLF13  vs 25 | 11:00| AV X FI13 s NEOI13 25 A3
11:30 vs AIERIL3 25 | 11:30 vs FAYxrbh13 25 AYx>r ki3
12:00 vs ANTRI3 25 | 12:00 STHHICBfL2ZEWw 25 NEOI3
12230 | K7ZVAF13  vs 25 | 12:30 THHiICBMiW 2w 25
13:00 | E7YLF13  vs 25 | 13:00 Vs NEOI13 25
13:30 Vs METRIL3 25 | 13:30 vs AYxXrF13 25
14:00 | 7Y F13  vs T3 25 | 14:00 | AV F13 s NEOI3 25
14:30 vs 25 | 14:30 vs NEOI3 25
15:00 Vs IEEI3 25 15:00 Vs AV x> F13 25
15:30 | X7V T13  vs IR 25 [15:30| AV kI3 s NEOI13 25
16:00 THHICBHW &L 25 | 16:00 THHiICB#WwEZZ W 25




